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Translating Points 
 

Complete the tables of values and plot the points on the graphs provided for the given equations. 
 

y = x2  
 
x x2 

-2  
-1  
0  
1  
2  
 

 
 
 

y = x2 + 2  
 
x x2 + 2 
-2  
-1  
0  
1  
2  
 

 
 
 

 
 

y = x2 – 3   
 
x x2 – 3 
-2  
-1  
0  
1  
2  
 

 
 
 

 
 

NOTES & 
HOMEWORK 

Describe how adding 2 to 
x2 changed your graph: 

You will use this graph, 
the standard y = x2, to 
compare with those below. 

Describe how subtracting 
3 from x2 changed your 
graph: 



 

y = (x  + 2)2 

 
x (x  + 2)2 
-3  
-2  
-1  
0  
1  
 

 
 
 

 
 
 
y =  (x + 3)2 – 2  
 
x (x + 3)2 – 2 
-6  
-5  
-4  
-3  
-2  
-1  
0  
 

 
 
 
 
 

y = -2x2   
 
x -2x2 
-2  
-1  
0  
1  
2  
 

 
 
 
 
 

Describe how adding 2 to 
x and then squaring it 
changed your graph: 

Describe how adding 3 to 
x and then squaring and 
then subtracting 2 from it 
changed your graph: 

Describe how multiplying 
-2 to x2 changed your 
graph: 



 
 
 

y = ½ x2  
 
x ½ x2 
-2  
-1  
0  
1  
2  
 

 
 
 

 
y =  |x|  
 
x |x| 
-2  
-1  
0  
1  
2  
 

 
 
 
 
 
 
 

y = |x + 2| 
 
x |x + 2| 
-5  
-4  
-3  
-2  
-1  
0  
1  
2  
 

 
 

Describe how taking the 
absolute value of x 
affected your graph: 

Describe how multiplying 
½  to x2 changed your 
graph: 

Describe how adding 2 to 
the absolute value of x 
changed your graph: 



 
 
 

y = |x – 3| - 2  
 
x |x – 3| - 2 
0  
1  
2  
3  
4  
5  
6  
 

 
 
 
 
 
 

Summary 
 

Equation Effect 
y = x2 + 2   

 
y = x2 – 3  

 
y = (x  + 2)2  

 
y =  (x + 3)2 – 2  

 
y = -2x2    

 
y = ½ x2   

 
y =  |x|  

 
y = |x + 2|  

 
y = |x – 3| - 2  

 
 

Describe how subtracting 
3 from x and then 
subtracting 2 from the 
absolute value of it 
changed your graph: 






